B 1 B 1
N N

§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h

3 = 0.6
ql0.6 =

= 0.3 & 0.5
5 B

5 04 5 04
3 3

> 0.3 =03
5 5

‘5 0.2 ‘5 0.2
8 2

2 0.1 2 0.1
B &h

g <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized

B 1 B 1
N N
£09 g 0.9
g 15}
iO.S i0.8
A &
£0.7 £0.7
&h &h

2 < 0.6
Ql0.6 < 0-
E0.5 305
B B

§ 0.4 § 0.4
3 5

> 0.3 0.3
s 5!
502 502
8 2

2 0.1 2 0.1
B &h

= <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N

§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h

3 = 0.6
ql0.6 =

= 0.3 & 0.5
5 B

5 04 5 04
3 3

> 0.3 =03
5 5

‘5 0.2 ‘5 0.2
8 2

2 0.1 2 0.1
B &h

g <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized

B 1 B 1
N N
£09 g 0.9
g 15}
iO.S i0.8
A &
£0.7 £0.7
&h &h

2 < 0.6
Ql0.6 < 0-
E0.5 305
B B

§ 0.4 § 0.4
3 5

> 0.3 0.3
s 5!
502 502
8 2

2 0.1 2 0.1
B &h

= <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) &
‘5 0.2 ‘5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= = A seed=11
£ 09 g 0.9 NC=4
o Q
iO.S i0.8
A &
£0.7 £0.7
3 5
50.6 50.6
E0.5 305
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
s 5!
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
T 1! ===
= B seed=13 = 3 seed=15
=09 NC=1 g 0.9 NC=2
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
= = 3 seed=20
£ 0.9 g 0.9 NC=2
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
3 5
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= B seed=17 = 3 seed=19
=09 NC=1 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=21 = 3 seed=23
=09 NC=1 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



T T 1!
N N
£09 209
Q Q
iO.S i0.8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 2o,
= 0.3 & 0.5
s B
§ 0.4 § 0.4
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=25 = 3 seed=27
=09 NC=5 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



T 3! —
N N
§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) &
‘5 0.2 ‘5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
T = 3! P
= 3 seed=29 = AN 3 seed=31
=09 NC=1 g 0.9 el NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 5
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
= = 3 seed=36
£ 0.9 g 0.9 NC=1
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
3 5
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=33 = 3 seed=35
=09 NC=4 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=37 = 3 seed=39
=09 NC=1 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) &
‘5 0.2 ‘5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
% 3 seed=41 % 3 seed=43
=09 NC=2 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
s 5!
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) &
‘5 0.2 ‘5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
% 3 seed=45 % 3 seed=47
=09 NC=3 g 0.9 NC=3
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
s 5!
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 = B 1
N N
§ 0.9 g 0.9
Q Q
iO.S i0.8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 < 0.
= 0.3 & 0.5
s B
§ 0.4 § 0.4
3 3
> 0.3 =03
= =
) &
5 0.2 ‘50.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=49 = 3 seed=51
=09 NC=1 g 0.9 NC=4
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 5
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
S 2 0.6
ql0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
% (3 seed=53 % 8 seed=55
=09 NC=2 g 0.9 NC=3
g 15}
iO.S i0.8
A &
£0.7 £0.7
3 5
50.6 50.6
2 0.5 & 03
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
S 2 0.6
ql0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 — B 1
% : 0 seed=57 % 8 seed=59
=09 . NC=1 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
3 5
50.6 50.6
2 0.5 & 03
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=61 = 3 seed=63
=09 NC=1 g 0.9 NC=2
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=65 = 3 seed=67
=09 NC=4 g 0.9 NC=5
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) &
‘5 0.2 ‘5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=69 = 3 seed=71
=09 NC=1 g 0.9 NC=3
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 5
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
S 2 0.6
ql0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
T 1 =3 —
% [ seed=73 % 8 seed=75
=09 NC=3 g 0.9 NC=2
g 15}
iO.S i0.8
A &
£0.7 £0.7
3 5
50.6 50.6
2 0.5 & 03
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
S 2 0.6
ql0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
% 0 seed=77 % 8 seed=79
=09 NC=5 g 0.9 NC=2
g 15}
iO.S i0.8
A &
£0.7 £0.7
3 5
50.6 50.6
2 0.5 & 03
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 01 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



T = 1!
N N
£09 209
Q Q
iO.S i0.8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 2o,
= 0.3 & 0.5
s B
§ 0.4 § 0.4
3 3
> 0.3 =03
= =
3 5
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=81 = 3 seed=83
=09 NC=3 g 0.9 NC=2
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=85 = 3 seed=87
=09 NC=3 g 0.9 NC=1
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N

§ 0.9 g 0.9
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h

2 2 0.6
Q0.6 =

= 0.3 & 0.5
s B

5 04 5 04
3 3

> 0.3 =03
= =

) &

‘5 0.2 ‘5 0.2
8 2

2 0.1 2 0.1
B &h

g <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized

B 1 B 1
% 3 seed=89 %
£09 NC=1 209
o Q
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
E0.5 305
s k)

§ 0.4 § 0.4
3 5

> 0.3 0.3
5 5
502 502
8 2

2 0.1 2 0.1
B &h

= <
<0 <0

0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B! T 1 —ym
= = SN O seed=96
£0.9 £0.9 s ol \C=1
— g =
Q o '
iO.S iO 8
A &
£0.7 £0.7
&h &h
3 = 0.6
Q0.6 =
= 0.3 & 0.5
5 B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=93 = 3 seed=95
=09 NC=1 g 0.9 NC=3
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
B B
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



B 1 B 1
N N
£09 209
Q Q
iO.S iO 8
A &
£0.7 £0.7
&h &h
2 2 0.6
Q0.6 =
= 0.3 & 0.5
s B
5 04 5 04
3 3
> 0.3 =03
= =
) %
‘5 0.2 5 0.2
8 2
2 0.1 2 0.1
B &h
g <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1
Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized
B 1 B 1
= 3 seed=97 = 3 seed=99
=09 NC=3 g 0.9 NC=4
g 15}
iO.S i0.8
A &
£0.7 £0.7
L) g
50.6 50.6
2 0.5 & 03
s k)
§ 0.4 § 0.4
3 5
> 0.3 0.3
5 3
502 502
8 2
2 0.1 2 0.1
B &h
= <
<0 <0
0 01 02 03 04 05 06 07 08 09 1 0 0.1 02 03 04 05 06 07 08 09 1

Euclidean distance to eigenvector of full 3, normalized Euclidean distance to eigenvector of full 5, normalized



